FRBADORICETHEMBSHRERERR

£ i B:FEm284£3A23R

H  F&:HORIBA PA-1000 Radi
BIEH & - EF 5cm, 50cm, 100¢m

B fI:uSv/h (49BY-~Ib/ EEF)

th = 551 = (EE XD FE2H R (FIRAT Z4%)

B OE & 5cm 50c¢m 100c¢m 5cm 50¢m 100c¢m
#E B o7 13:40 13:38 13:36 13:46 13:44 13:42
#ooE | 0073 0.117 0.117 0.069 0.116 0.114
BI B kb | -0.007 -0.006 0.003 -0.006 0.016 0.004
tth = SEI3M R (L EMIES) Fam (ZENLE BiE5)
B OE & 5cm 50¢m 100¢m 5cm 50¢m 100¢m
o E o7 13:59 13:57 13:55 13:54 13:52 13:50
HoE | 0054 0.055 0.065 0.083 0.087 0.110
Bl B kb | -0.009 -0.018 0.002 -0.009 -0.011 0.007
ith = FEEM S (TUMF A %) HEeHE (T TIUF)

B O = 5cm 50¢m 100¢m 5cm 50¢m 100¢m
o OE B o7 14:07 14:04 14:02 13:19 13:17 13:15
#BOE B[ o116 0.118 0.135 0.087 0.090 0.081
BT B kb | -0.023 -0.019 -0.002 -0.006 0.016 -0.004
th = E7H S (EHIEELS)

B OE & 5cm 50cm 100¢m

B OE B Z 14:15 14:12 14:10

B OE  fE| 0150 0.142 0.140

B @ Lt | 0.004 -0.018 -0.010

KEFRAESRERICRVBENIELTHET,
MAEICOEFELTITEFHICIEBEREL, ARLET
MRE AT, EEAOPRMETEELET




FRBADORICETHEMBSHRERERR

£ i B:FEK275F12822RH

H  F&:HORIBA PA-1000 Radi
BIEH & - EF 5cm, 50cm, 100¢m

B fI:uSv/h (49BY-~Ib/ EEF)

th = 1 S (EE XD FE2H | (TIRAT E5)

B OE & 5cm 50c¢m 100c¢m 5cm 50¢m 100c¢m
#E B o7 10:13 10:11 10:09 10:19 10:17 10:15
HooE fE| 0080 0.123 0.114 0.075 0.100 0.110
BT B kb &| 0.004 0.008 0.006 0.007 0.011 0.008
tth = EIM A (ZENEE) Fah R (ZENEE B
B O &3 5cm 50¢m 100¢m 5cm 50¢m 100¢m
o E Bz 10:34 10:31 10:29 10:26 10:24 10:21
#OE B[ 0063 0.073 0.063 0.092 0.098 0.103
Bl B kb &| 0.008 0.010 -0.004 0.019 0.019 0.002
tth = EEME(TUMF A ) HOH R (T TIUR)

B OE B3 5cm 50cm 100¢m 5cm 50cm 100¢m
o E B % 10:43 10:39 10:37 9:45 9:43 9:41
B OE | 0139 0.137 0.137 0.093 0074 0.085
Bl @ kb &| -0.016 0.010 0.024 0.016 0.003 0.013
th = E7H S (EHIERLS)

B OE & 5cm 50¢m 100¢m

A E B oZ 10:07 10:05 10:03

A E fE[ o146 0.160 0.150

B @ L 8| -0.012 0.022 0.012

KEFTRAESRERICRVBENIELTHET,
MAECOEFLTIEEFHAICTEBEREL. ARLET,
MRE AT, EEAOPRMGETERELET .




FRBADORICETHEMBSHRERERR

E I B:ER2749A29AH

f2:HORIBA PA-1000 Radi

AIEH S EE 5cm. 50cm. 100cm

fii: uSv/h (R49Ry—~ Wb/ EEE)

th = 551 = (EE XD FE2H R (FIRAT Z4%)

B OE & 5cm 50c¢m 100c¢m 5cm 50¢m 100c¢m
#E B o7 14:20 14:22 14:24 13:53 13:55 13:57
#oE | 0076 0.115 0.108 0.068 0.089 0.102
BT B kb | -0.014 -0.007 0.006 0.001 -0.009 -0.010
tth = SEI3M R (L EMIES) Fam (ZENLE BiE5)
#BOE & 5cm 50¢m 100¢m 5cm 50¢m 100¢m
o E o7 14:07 14:09 14:11 14:00 14:02 14:04
HOE  fE[ 0055 0.063 0.067 0.073 0.079 0.101
Bl B kb | -0.004 0.001 -0.007 0.003 -0.006 -0.012
tth = ESME (FUMF A ) EeHm (T TIUR)

B O = 5cm 50¢m 100¢m 5cm 50¢m 100¢m
o E o7 14:13 14:15 14:17 13:26 13:28 13:30
#BoE B[ 0155 0.127 0.113 0.077 0.071 0072
Bl B kb | -0.002 0.009 -0.007 -0.007 -0.003 -0.015
ith = E7H S (EHIEELS)

B OE & 5cm 50cm 100cm

o OE B % 14:27 14:29 14:31

B = fE| o0.158 0.138 0.138

Bl B kb &| 0027 -0.005 -0.014

KEFRAESRERICRVBENIELTHET,
MAEICOEFELTITmEF I EBEREL, ARLET S
MRE AT, EEAOPRMETEELET




FRBADORICETHEMBSHRERERR

£ & B Em27£6A18AR

H  F&:HORIBA PA-1000 Radi
BIEH & - EF 5cm, 50cm, 100¢m

B fI:uSv/h (49BY-~Ib/ EEF)

th = 551 = (EE XD FE2H R (FIRAT Z4%)

B OE & 5cm 50c¢m 100c¢m 5cm 50¢m 100c¢m
#E B o7 9:42 9:40 9:38 9:48 9:46 9:44
#ooE M| 0090 0.122 0.102 0.067 0.098 0.112
BT B b B| -0.049 -0.009 -0.022 -0.027 -0.024 -0.010
tth = SEI3M R (L EMIES) Fam (ZENLE BiE5)
B O &3 5cm 50¢m 100¢m 5cm 50¢m 100¢m
o E Bz 10:00 9:58 9:56 9:54 9:52 9:50
HoOE  fE[ 0059 0.062 0.074 0.070 0.085 0.113
BT B kb | -0.006 -0.010 0.005 -0.004 -0.003 -0.005
ith = ESME (FUMF A ) EeHm (T TIUR)

B OE = 5cm 50cm 100¢m 5cm 50cm 100¢m
o OE B % 10:07 10:05 10:03 9:19 9:17 9:15
B OE  fE| o157 0.118 0.120 0.084 0074 0.087
Al @ kb &| -0.007 -0.036 -0.022 -0.012 -0.013 0.016
th = E7H S (EHIERRS)

B OE & 5cm 50cm 100c¢m

B OE B A 9:36 9:34 9:32

A F fE| 0131 0.143 0.152

B [ Lt 8| -0.064 -0.025 -0.001

MEFRESAESICIVBENAIELTWET,
MRIEICDOEELTITMmMERICIEBEERL. ARLET,
SGREM S (. BB RO D RMGETERLES,
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